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4.4 Nonlinear Systems Practice Date: , Period:

Solve each system by graphing. Check your answers.
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Solve each system by substitution. Check your answers.
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Solve each system by elimination. Check your answers.
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Solve each system by any method. Check your answers.
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9. Abird is flying upwards such that its height in meters after t seconds is given by h = 0.75t.
As the bird takes off, a ball is thrown upwards from the ground with an initial velocity of 20
meters per second. The height in meters of the ball after t seconds is given by

h=-4.9¢ + 20t.
" a. Find the time it takes the ball and the bird to reach the same height. .
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b. Find the maximum height of the ball.
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